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And if you want I can say; we also find 7792p% nimv>w against her will

OVERVIEW

The &) explained that even 7937 mi?w, which generally can take place only
anyTn is also considered 777°7 X171, because there is a case of 772p% NMi°>w which
can be 2"v2 of the woman, where the father of an 71vp WX can be %2p» her 2"va va.
However 7xn 11 (by minn) can (seemingly) only take place nnyTn. Our nvoIn
clarifies the difference between mn*?w and 2x11.

— NA A1 MNPYY NN 199RT M9 IV ‘ynwn
It seems that the X"2°X wants to say that even if ny»w was included from 177,

it will still be properly understood, for -
— AN T B ANTD YA MY JNIUNT 11D

Since we find a case of 2"v2 12p% N through the father, so -
— 7 N1 29V 2PUN NP NIN M1 XY 1YY INYYT 2) DY 9N

Even though regarding the remaining cases of 792p% m¥»w it is only with her

consent, nevertheless 7192p% 19w is considered similar to 7773 because of this one case
of 2"va through the father.

mooIn asks:
— 797 N9 211 N9 Hya XYY 1) by N 2933 NINN I8NT NN*M

And it is astounding! For also by a 93n which acquires a 7n», even though it

cannot be 2'"v2 nevertheless, it too should be considered similar to 7% (just as
7225 MIhw is 7707 Xom1T) -
— DIVININT (x, iy 1nps) PN PNT 199 1P A9 NPAY 98N P NN ¥ I8N JNIYNT

Since we find >"y2 9xn 11 (by 1Pw17)), for instance a 931 which she owned
previously (before the 7217°3) as we learnt in a mw» in P97 279 that she is
divorced if the husband threw the 3 into her 7¥n against her will® -

! The first answer distinguished between 2x2n, which is derived from 737, and m°5w, which is derived from r5un
amowt. The X mx then offers an alternate answer (the X"aXY) indicating that even if we do not make this first
distinction between 2xn and Mmn*%w, but rather %1 and M°%w are both derived from 77, nevertheless there is a
difference between 1317 and M*Hw.

? Just as we say regarding 722p2 mmow that it is effective, even though in the particular case where she made a m>w
7227 it can never be 3"v3, nevertheless since there is a case where a woman can be divorced 2"va through a %W
223pY, therefore every other 172p% 9w is effective; similarly by % since there is a case where her 1% can acquire
for her the 3"v2 vx (by a o7pnT 77%n), therefore even by a 7¥1 which is not a7pn7 77%¥n and it cannot be 3"v2, it
should still be effective since there is a case of 3"va 1¥n (just like by mmow). What is the difference between mn>ow
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mo0IN answers:
— ART NV 135 NNID DY MM KD 197 DNIPNT NIKNT PNYS 13929 9IIN)

And the """ answers, that a previous 237 is not as 2"'va like 287 nybw -
— 915 99 7Y YNNN X9 *Y9pany N9t

For by ompn7 77%n she can be %vpen the 71X (before the 7"w17°)) and she will

never be able to be divorced through this %77 -
.INY9 5P V) YA XYY PPIY DIV 2995 1Y TWAN IN ANT MNYY YaN

However by an7 mmbw, there is no way she can prevent her father from
receiving her 2'"'va wa.

L N8 )
Moo concludes that this distinction is awkward!

SUMMARY

The 2"va of 7%2p% Mmow cannot be prevented by the woman, as opposed to the
2"y2a of a7Pn7 177%1 which she can prevent and therefore it is not considered Xn>X
o"ya.

THINKING IT OVER

1. mooIn distinguishes between mn>%w which can be 2"va (by the father of a 7ivp)
and o7Tpn7 9¥n which is not necessarily "3, for she can be 7°pon the xn.’
However by a ompn7 7% of a 7i1vp, there is the same 3"v3, for she cannot be pon
the ~xn!’

2. M2 did not ask that 77%77 1s not 777 X717, since she cannot be 777> 7’97, but she
can be 77xn 7°Pon, indicating that her capability to be 77¥m 7°pon does not make it
different than 7. This seemingly contradicts m»oIn answer!°

and "xn?!
? See “Thinking it over’ # 1 & 2.
* See footnote # 3.
3 See K X"y w93 and "R # 119,
6 See m"ax # 120-22.
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